STAT 2601  QUIZ #6                  

NAME:                                                 Student ID:                                                                                                                            
Problem1.  The mean area 
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of the several thousand apartments in a new development is advertised to be 1250 square feet. A tenant group thinks that the apartments are smaller than advertised. They hire an engineer to measure a sample of apartments to test their suspicions. The appropriate null and alternative hypotheses,  
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D)  Cannot be specified without knowing the size of the sample used by the engineer.

Problem 2. A test of the null hypothesis 
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(a) What is the P-value if the alternative is  
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(Answer)
P-value = 
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(b) What is the P-value if the alternative is  
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             P-value = 
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Problem 3. The level of calcium in the blood in healthy young adults varies with mean about 9.3 miligrams per deciliter and standard deviation about 
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. A clinic in rural Guatemala mesures the blood calcium level of 170 healthy pregnant women at their first visit for prenatal care. The mean is 
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. Is this an indication that the mean calcium level in the population from which these women come differs from 9.3?

(a) State 
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   Null Hypotheses            
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   Alternative Hypotheses     
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(b) Carry out the test and give the P-value, assuming that 
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 in this population. Report your conclusion
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P-value = 
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Since P-value is less than 
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then we can say 

      “ Reject 
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